| PEI' N
CHP 2 :  PQOO
Exercice : 10

class Pol yCreux():
def __init__(self):
sel f.data =({}
def aj out _nonone(sel f, nmonome={}):
i f | en(rmonone)==0:
#si ai e dég
while 1:
try:
deg= int (input("deg="))
if deg>=0:
br eak
except:
conti nue
#si ai e coef
while 1:
try:
coef= float(input("coef="))
if coef!=0:
br eak
except:
conti nue
#aj outer nonone a data
el se: #if len(nmonone)! =0
coef = list(nmonone. val ues())[0]
deg = list(nmonone. keys())[0]
sel f. dat a[ deg] =coef
def degree(self):
return max(sel f.data. keys())
def __call__(self,x0):
s=0
for deg,coef in self.data.itens():
s+= coef * x0 **deg
return s
def __add__(self,other):
assert type(other)==Pol yCreux
p =Pol yCreux()
p.data = self.data
for deg,coef in other.data.itens():
if deg not in p.data:
p. aj out _nonone({deg: coef})

el se:
s = coef + p.data[deg]
if sl=0:
p. aj out _nmonone({deg: s})
el se:
del p.data[ deg]
return p

#tester |le code

p = Pol yCreux()

p. data={1: 2, 3: 4}

g = Pol yCreux()

g.data={1: 2, 3: -4, 5: 4}

#appel a __call__ : objet(x0)
print(p(0))

pg = p+q

print(pg. dat a)



